HER A D RREAYRIE
BKMJYS #7175 2%

EY IR BKMJYS &%)

H . Oct 10, 2022
FiAS « 01

HANYU



s

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%

¥

3]

I TR TR

WS TR AN PCB, W] B 4 s 138
7 BT R i 1 53 A 2 4

P Ay Py B0 LR

FFE

A= AER,
LGS G

U 24 R YL

- R EIT R,

- HEEAR

W E AR (B ] XR)

m N

m R

FIF D2 R IE
- YEBRIE I

—fR

- PR TR KHL
LIS

= R TR T

R
EE S SIS ) R ST A
(max. M12 F#1%E= 10Nm/M16 ff1#14E= 12 Nm)

FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and Page 2 of 14
Important notes at the end of this document.



s

HANYU

WA —ThR A BALIE

FH Bt BKMJYS #5

BORBHE A%

FRE

BiE F2Y Cr R A% R

K —5% ~ +10%

R D (Delta)

BE HL T VR R A% R
BUE S fr 50 and 60 Hz

i 4 R S K

BE IR IR R S K
BRRBUEE

Umax 1.15Ur

Imax 1.8Ir

Is Up to 200 « Iz (A)
WA B

Urr 2.15Un, during 10 s
Urc 2Un+2000 V AC or 3000V AC , during 10 s

*tan & (100 Hz)

<2.0x103

%K% —40/D

Tmin —40°C

Tmax +55 °C

MR Av. rel. < 95%

RO R 4000 m

TR

tio Up to 100 000 hours at temperature class -40/D

Up to 125 000 hours at temperature class -40/C

Max. 5000 switchings per year acc. to IEC 60831.1/2-2014

FILM PFC PM

Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 3 of 14




s

HANYU

WA —ThR A BALIE

Bt BKMJYS 7%

B R

R~ (6D x H) MR %

B I PCB, B A 76 55 B e b e T2
Fixing 2 M12x16 or M16x25

e KAEFEH (Al can stud)

M12: 10 Nm / M16: 12 Nm

EZE VA

AEE LA E
BN, HSW YT .
KV 2%e, ATREA BN Sk Bl S

A ¥

TRIFERE IP20

KSR 6Nm

24 By 1 A T 50mm2

B K i B 100 A

JTE FE FE BS (min) >24 mm

JEH (min) 223 mm

ZE

B2 42 iof e B B TR

S KB J6 B R (AFC: 10 kA according UL 810 standard)
3 EE EELBEL RS ) <180 sto 75V orless (IEC 60831) External discharge resistor
SEIHE

IEC 60831-1/2-2014 GB/T 12747.1/2-2017

FILM PFC PM

Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 4 of 14



s

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%

K IRAY

Type: L
Screw type

GEl it
pL

Type: A
Normal aluminum can

FILM PFC PM

| $5a.aa
L L3 12

’ b 4E0=2

W -caurs

Fod. .l aled
-

. [T T 1

By = Rl e
Wose o o BEAT WA
e EREY LT
BER" .
LIEREERT" 2 | ]

" vl A 00
TN ighAR:
Wil
L el
Type: B

Pressure tank aluminum can

Type: K
Clip type

" AvB

| sedpda®

s meAe L AR

(et

B-cruve

Lol SRR
e

o

Type: C
Slot rolling aluminum can

Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 5 of 14



s

BB A IR E R IE
Bt BKMJYS Z7%

Ysaany

@ unveRrsaL

k ELECTRICAL
POWER CAPACITOR

Model : BKMJYS0.48-30-3 |

U Qn /50Hz Qn~ /60Hz

400V 20.80kvar 25.00kvar
415V 22.40kvar 26.80kvar
440V 25.20kvar 30.20kvar
480V 30.00kvar 36.00kvar

(C=138.2uFx3  Ui=3/8kV [=36.0A |

Temp.category -40/60 4 SH
Dry/Non-PCB /Non-SF6
Pressure Sensitive Disconnector
IEC 60831-1 ( 2014 ) +2 ( 2014)

UNIVERSAL
( Germany Key Techonlogy )

warning ! Wait 60 seconds after
isolating before handing

Note: parameter marked in “ [___] " is variable

FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and Page 6 of 14
Important notes at the end of this document.



‘\E

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%

A

BKMJYS-L-A BKMJYS-K-A
Marking Marking
H .

@ u Torque : M12=10Nm

Torque : M12=10Nm

M16=12Nm M16=12Nm
4
#D+1 sesssn Serrated washer oD*1 wssssswsy Serrated washer
(LT Hexnut m12zm16 (T 1] Hexnut M12/M16
o
o (3 . -
. % \ b E@ @ @B
S @ @r 5 R
e
BKMJYS-L-B BKMJYS-K-B
T BAA | ARA T
O : ( , & NN
i i
[00)
Q0 &
Markin .
g Marking
T Y
T +I
T

LH—‘ u Torque : M12=10Nm

Torque : M12=10Nm

M16=12Nm M16=12Nm
pD*1 messsese Serrated washer pD+1 s Serrated washer
(I 1) Hexnut M12/M16 [T 1] Hexnut M12/M16

5 5 ® ¢ ol

a 7 5 S ® & ¢

s © s e
FILM PFC PM Oct 10, 2022
Please read Cautions and warnings and Page 7 of 14

Important notes at the end of this document.



s

HANYU

WA —ThR A BALIE

HE: BKMJYS £7%1
BKMJYS-L-C BKMJYS-K-C
H| o
| [Aed | 4ed i HH , ()
| | | I | 1 [
Marking Marking
¥ z
T
@ u Torque : M12=10Nm @ u Torque : M12=10Nm
M16=12Nm M16=12Nm
pD+1 ssesss Serrated washer pD*1 s Serrated washer
[(TT] Hexnut M12/M16 (T 1] Hexnut M12/M16
D) I
I 3 H 1 ¢ @
) / N = > ¢ S
s © s ST
AR
50Hz 60Hz Cr Dimension (mm) Bolt of | Packing
Uiess the unit
Output Ir Output | Ir bottom pcs
kvar A kvar A Wk ®D ®D1 H
WiEHJE 450 V AC, 50/60 Hz, = /i i&E#
BKMJYS-X-X-0.45-5-3 5.0 6.4 6.0 7.7 26.2x3 65 68 160 M12x16 10
BKMJYS-X-X-0.45-10-3 10.0 12.9 12.0 15.4 | 52.4x3 76 79 235 | M12x16 6
BKMJYS-X-X-0.45-15-3 15.0 19.3 18.0 23.1 | 78.6x3 86 89 235 | M12x16 6
BKMJYS-X-X-0.45-20-3 20.0 25.7 24.0 30.8 | 104.8x3 86 89 278 M12%x16 6
BKMJYS-X-X-0.45-25-3 25.0 321 30.0 38.5 | 131.0x3 96 99 278 M12%x16 4
FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 8 of 14




A\E

HANYU

WA —ThR A BALIE

FH Bt BKMJYS 25
BKMJYS-X-X-0.45-30-3 30.0 385 | 36.0 |46.2|157.2x3 | 106 | 109 | 278 | M16x25 4
50Hz 50Hz Cr Dimension  (mm) Bolt of | Packing
Part number Output Ir Output | Ir b t?te UZ:
kvar A kvar A Wk ®D ®D1 H ottom P
BKMJYS-X-X-0.45-33.4-3 33.4 429 | 401 | 515 |175.0x3 | 116 | 119 | 278 | M16x25 4
BKMJYS-X-X-0.45-35-3 35.0 449 | 420 |53.9 |1834x3 | 116 | 119 | 278 | M16x25 4
BKMJYS-X-X-0.45-40-3 40.0 514 | 48.0 |61.6|209.6x3 | 126 | 129 | 278 | M16x25 4
BKMJYS-X-X-0.45-50-3 50.0 64.2 | 60.0 | 77.0 | 262.0x3 | 136 | 139 | 278 | M16x25 4
e B JE 480 V AC, 50/60 Hz, = fikH:
BKMJYS-X-X-0.48-5-3 5.0 6.0 6.0 7.2 | 23.0x3 65 68 160 | M12x16 10
BKMJYS-X-X-0.48-10-3 10.0 12.0 120 | 145 | 46.0x3 76 79 235 | M12x16 6
BKMJYS-X-X-0.48-15-3 15.0 18.0 18.0 | 21.7 | 69.0x3 86 89 235 | M12x16 6
BKMJYS-X-X-0.48-20-3 20.0 240 | 240 |28.9 | 92.1x3 86 89 278 | M12x16 6
BKMJYS-X-X-0.48-25-3 25.0 30.0 | 30.0 |36.0|115.2x3 | 96 99 278 | M12x16 4
BKMJYS-X-X-0.48-30-3 30.0 36.0 | 36.0 |43.3|138.2x3| 106 | 109 | 278 | M16x25 4
BKMJYS-X-X-0.48-33.4-3 33.4 40.2 | 401 |48.3 | 153.8x3 | 116 | 119 | 278 | M16x25 4
BKMJYS-X-X-0.48-35-3 35.0 421 42.0 | 505 | 161.2x3 | 116 | 119 | 278 | M16x25 4
BKMJYS-X-X-0.48-40-3 40.0 48.2 | 48.0 |57.7 | 184.2x3 | 126 | 129 | 278 | M16x25 4
BKMJYS-X-X-0.48-50-3 50.0 60.2 | 60.0 | 722 |230.3x3 | 136 | 139 | 278 | M16x25 4
Rated voltage 525 V AC, 50/60 Hz, delta connection
BKMJYS-X-X-0.525-5-3 5.0 55 6.0 6.6 | 19.3x3 65 68 160 | M12x16 10
BKMJYS-X-X-0.525-10-3 10.0 11.0 12.0 | 13.2 | 38.5x3 76 79 235 | M12x16 6
BKMJYS-X-X-0.525-15-3 15.0 16.5 18.0 | 19.8 | 57.7x3 86 89 235 | M12x16 6
FILM PFC PM Oct 10, 2022
Please read Cautions and warnings and Page 9 of 14

Important notes at the end of this document.




‘\E

HANYU

WA —ThR A BALIE

3Bt BKMJYS &7
BKMJYS-X-X-0.525-20-3 20.0 22.0 24.0 26.4 | 77.0x3 86 89 278 M12x16 6
50Hz 60Hz Cr Dimension  (mm)> Bolt of | Packing
Uess the unit
Output Ir Output | Ir bottom cs
kvar A kvar A WF ®D ®D1 H P
BKMJYS-X-X-0.525-25-3 | 25.0 | 275 | 30.0 |33.0| 96.3x3 | 96 99 | 278 | M12x16 4
BKMJYS-X-X-0.525-30-3 30.0 33.0 36.0 39.6 | 115.5x3 106 109 278 M16x25 4
BKMJYS-X-X-0.525-33.4-3 334 36.8 40.1 441 | 128.6%x3 116 119 278 M16x25 4
BKMJYS-X-X-0.525-35-3 35.0 38.5 42.0 46.2 | 134.8x3 116 119 278 M16x25 4
BKMJYS-X-X-0.525-40-3 40.0 440 48.0 52.8 | 154.0x3 126 129 278 M16x25 4
BKMJYS-X-X-0.525-50-3 | 50.0 | 55.0 | 60.0 |66.0|192.5x3 | 136 | 139 | 278 | M16x25 4
FEHmERG
BKMJYS - X - X - 048 - 30 - 3
@ -- ZFUARH
@) -- BFHA, L - g2t
K -- 41
® -4 A, A - HiE4E R
B -- [k J1iE4R
C -- AL F 4R 5
@ -- xR RFEBE
® --HARHIBEHE
®) - AMERER 3-ZH (A) : 1- B
FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and
Important notes at the end of this document.

Page 10 of 14




s

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%

EE:
WREZ2AFHEEEMAERBHBEESE, BEPEETHRESS, HHEAEDEHEMAK 1.732 £,
RS HAF

R EHAES

B AR IR T 1 mm B MR BT AU, WA T A

w Xt A R AT L.

w OyH R R B BT R M A I RE, BT AR 2 RIS, RS HA S BT AR 2 12 mm
s Tal .

mOAESBCRET, B2l

B EAEEOLT, AU 2 N Bt R S SR O

B hDRIEHEA S, POV TR E i, REERTER R, BAES I Ree .

B OENREA S, By RN R .

m RESEL RSB EEI, R R BRI

TOUIAE FH A i
LR TORR A TR T A s SXIEH] T 8 i . SRR TR FH 75 i mT A DR HL 2 8 ) I FH T 7«

e

L2 A 1) F B UMGR T AT RERE SR ) o b FL R A IO UBRBREIR U S M B B A AR R R HE AT
REF RN S5 5 B - 1k

PR R AP T R RN

SR AW AR B s SR LA R i

MU S R0 1 RS R AN i 2 DR HLA v B mT e

mEE R TRESEE.

HRRBIE%
T R B T2 (A M TR, A B 5 BA F K
11, SR TR FI RS, B
m AR TS ().
m UG RSN 12 SRR TR T MK . ol R AN O, DA (R
FERB B T

BT AR TR

FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and Page 11 of 14
Important notes at the end of this document.



s

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%
[ |

2. MRE UL 810 drifE, HOARSCVFHBRE LIy 10000 A, T2 HH SRR PP R ORILE o
3. LA I N 712 B 24 IECB0831 FUHS VL FEI N o

B R A R

® f§if] HRC {225k MCCBs #ATHI MG IRy . NGRS ORI FIERL R SE, DAMEREE K AL 1.5 £
(R0 5 FLAS IR

B HRC {RE: 22 ANGepy 1E AR AR I3, R e B 2% IRy E

HRC [ 22 5 {5 A ZE A L) 1.6 2 1.8 fi%.

B OREAH HRC RIS 22 k)4 25 A8 (FEITURURS ) o

u il FH AV I FRL A 0k PR AR AT I B AR

SR
FEARMTIEOU T, A2 3 22 ) N FH e Rl Sl IR Ot A I HoR S o e AU SRS RMS Al
o LI (G B I L) -

H ) E
FEFE R WIS AR DR A2 6 TR LN 1), DA S A A S A 5 S50 TR R UAL

PR

A7 FIPTIRTERF & IEC 60831 5 2-6 47

I RAB R 2% A

g I ] 6 h*

B 1 10 ... 55 Hz*

KR MR 0.75 mm*

FILM PFC PM Oct 10, 2022
Please read Cautions and warnings and Page 12 of 14

Important notes at the end of this document.



s

HANYU

WA —ThR A BALIE

Bt BKMJYS Z7%

SR GE T A BV R T T A SR ED A, DA A TR A B A R T
REN MR E . SR, B B AR TE TR R A & R IR B L

Fedh,
HL A AR SO AP RATE 0 Tt An R I 20 H R o ) < R IR B HEAT #2535 e AR BE R R38R 2 2%
Bro BRITESIHIN10 Nm.

i

SE Ser A 1) K

FEF BRI O R, I SRR IR EAT UL A B A B IR A R 3 T
Un SR L T AE AL, R A S A N R P R A B

AR SRASIN R AR LA 0 B B I, U 24 SR ] AT VI T

URAFAE IR, A5 R 2 R A R AL (LT S)

F B R L H A FePTas, WA RER, R E IR

(1) 27 as LRI H.

W fE< 180 FPJm, ¥ 1 Z A AR RN 75 V.

m ORAEIETE, EEAERESNERE, EfREFRCECH. WRADNRESRKERE S, &
BOEHOX A S, PRUNIZROZASRE R BN f R, 2k 8 fr & mi e s

Sl AF AR AR 26 AT

BRSO EA BT sl A7 RS CHGR AR R R B R TR Tl EhEEIIIAEE.
FEZ AR, T 2OE IR AN, IO T, DA G A 2 TR B 5 2 [R] ) 5 L T B

FILM PFC PM Oct 10, 2022

Please read Cautions and warnings and Page 13 of 14
Important notes at the end of this document.






	安全
	电容器的电气或机械误用可能是危险的。由于电容器的机械破坏，电容器爆炸或油或熔化材料的排出可能导致人身
	抗振性
	这些数字仅适用于电容器。因为固定和端子可能会影响振动特性，所以有必要检查内置电容器并暴露于振动时的稳

